V/4

N
C view
» Y
A view
N
B
<)
F view
B / Product Number
AUPE - -
Ht& W-Ti& D~ti& ER/A

H dimension

W dimension

B 1L#k / Feet specification

D dimension

Feet (R or A)

BT =h)LT—74 / Technical Datall
#H{ThILY / Recommended torque

M25 : 0.15N*m ~ 0.2N*m

M3. M4 : 0.3Nm ~ 0.6N-m

EX (P /H)

Screw (P or H)

EHE X{L#k / Original trapezoid head screw specification

(AR

Color Type

HEHINZ / Components

No. 2 %5 / Part name #E / Pcs #'&E / Material - RmEME / Color-Finish
' a—+—Javy 4 TILEF L Fv X+ ADC12 DIVIR— TSy - B (RERRLIE)
Corner block Diecast aluminium ADC12 Silver , Black-Painted (Unfinished inside)
9 Btk ) TIVSIRHIA A6063S-T5 DIV —EE (NERRILIE)
Frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
2 TL—L . TILSIRHAT A6063S-T5 DIV —E R (NEARERILIE)
Panel support frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
4 AT ) 7 ILEHR A1100P DIVA—BE (REERLE
Panel Aluminium A1100P Silver=Painted (Conductive inside)
5 HN— : 7 ILEHR A1100P DIbnN—- ZBE (REERNE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
6 ThiN— 1 7 LR A1100P DILA—-E% (EEERLE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
JLE TPE (T5RMT) T5v9
7 Rubber feet 4 TPE (Elastomer) Black
TILZE FILE & 2)avd L SILIR—-FILIA & T5VY
Aluminium feet Aluminium & Silicone Silver=Anodized & Black
o EMCY—ILRH R vk 1 BEMMHE (ULIV-0) A9 9T L—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 H{FTE R (M3 x 8) 16 % =L AYFE
Screw (Flat head M3 - 8) Steel Nickel plated
10 BR{FER (AFM3 x 5) g % =YL AYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
11 HTE R (/812 KM4 x 8) 4 5 =lE/OA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
1 MAER GETFMIEFAM25x 7) e # ST ILAYE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

|E| JLE / Rubber feet

T ILZZE / Aluminium feet

[P] 7SR / Phillips

73f / Hexagon—socket

8114k / Color Type

525 / Code a—73—78v% / Corner block {8I#R / Frame ISFIL / Panel #3/8— / Top cover | T#H/3— / Bottom cover
S S < )Ls\— / Silver < )LsN—/ Silver | 2 JLsN— / Silver < JLsN— / Silver < JLsN— / Silver
S B 7594 / Black < JLiN— / Silver | < JLsN— / Silver < )Lsx— / Silver < )L13— / Silver

BARHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

T/ Title
INRILEBRREMCY — LR —X

EMC SHIELDED ENCLOSURE with DETACHABLE PANELS

A
O L

& 5%/ Approved

iR

#%[X]/Checked #[X/Created

£ fi] A

FIF /Product number

AUPE177-16-300J01-010

RE/Scale

YERZ B /Date 2024/05/29

R— /Page

177

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




B-B(1:4) E view

é@*##ﬂm
= °H A-A(1:4) C-C(1:4)
0
e lo o ol 286 152
(1
113
D view A view C view B view
16005 300+05
l<— A
o o B o |
B u B

177£0.5
.
|
u
|
—

F view

B

faa/Title
TAKACHI| HHASHINTFERIE INRILFERREMCY — LR —X @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. | EMC SHIELDED ENCLOSURE with DETACHABLE PANELS =
758/ Approved 1%/ Checked %[ /Created | E!F/Product number RE/Scale
1:4
PR ES FFN AUPE177-16-30000-010 v
o o
d S fEFH/Date  2024/05/29 2 /1

AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fBl#® / C Frame

250 22.5

="
3
=)
<
TR o
5 5
2-M3AY IR
M / Front side 2-M3 Countersunk
¥ RxtmE+E [k / Same on the other side.
D fl#x / D Frame
=)
=
ke N
M / Front side g2 i

3.3

3.3

ZEM / Back side

5 / Back side

a4/ Title
TAKACHI| BXESH4DhFERIE B4R () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7&K R/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale
1:3
iR X FipN R—/Page
H177 - D300 1ERK B /Date 2024/05/15 3 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

110 6.8 2

o
<
1.6
<
S
N
5 5 3 3.3
2-M3FH 7%
2-M3 Countersunk
147K / Total 4 pieces
4/ Title /_\ |/|
A ==
TAKACHI| BRXa#tahFEMTE IL—L O L]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
7 R/ Approved X /Checked #1[]/Created FIE /Product number RE/Scale
1.5:1
iR = S e
W160 e B /Date 2024/05/15 4 /7
AEEOEEEIHRERIDFERITEICRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\2RJL / A Panel

M / Front side

B /34 JL / B Panel

M / Front side

164

109.5
K ® ]
o o
L N2 S _

H#~Ti% / Max dim.102+0.3

\: } {l
o Py
| X7 §7 |

BH~i% / Max dim.143.6+0.5

4-M2 5 AR )L RY)—T
4—Metal sleeve for M2.5

3.5 2

REES—HA

Surface protective film side

I
I
RE—MAY
Surface protective film side
I

156.5

| / Back side

% / Back side

86

a4/ Title
TAKACHI| X2 hFERIE ISR () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:25
iR : B o
H177 - W160 1ERk B /Date 2024/05/15 5 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

130

4-R14.7
o
<
: o
& &

M / Front side

H#~ti% / Max dim. 113+0.3

B#tiE / Max dim. 253+05

4-24.5

REE—HA

Surface protective film side

ZEm / Back side

BARHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
HIN—

Top cover

f}r""‘l
S

23/ Approved

iR

t&X/Checked #I[X]/Created

£ gD

FIF /Product number

RE/Scale
1:2

W160 — D300

YERZ B /Date 2022/11/16

R— /Page

6 / 7

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

130
4-R14.7 4-245
101.4 2
O O O O
O (o] (o] o]

]
=
+
™
)
~
£

< < ©

s R 3 3

~ N ~ =
~
il
1
'-|'§ SHES
i fREE — Ml

Surface protective film side
O o O (6]
O O Q O

M / Front side

Bxh~ti% / Max dim. 113+0.3

ZEm / Back side

mn4/Title
. A R
TAKACHI| HASHINFEKIE THhiN— @) G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
T - - RE/Scale
£%/Approved 1&[X/Checked #I[X]/Created FIE /Product number
1:2
k4
iR E3 B4 g o
W160 — D300 1ERk B /Date 2022/11/16 7 /71
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






